FAvik R

REBR A 10u1 0.4M Fe(CN)s*4c » 10ml 1M KCl

1ml=1000ul  10ul=0.01 ml
Working electrode : Pt electrode 0 0.0lml<<10ml .. 0.0l ml ¥ &%
Reference electrode : Ag/AgCI electrode 0. (1012101) — 0.3996 % 10~4M
counter (auxiliary) electrode : Pt wire = 0.3996 mM

= 04mM (&% 0.01ml)

LB i% B ,fj‘ Sk R 04,08,1.2, 1.6 mM
2%

D EemEREB(CV B FHPERART S P AR (baseling) @ 8 R
i ':aﬁ_‘/?:l(lpc) ~ 3 L aE ':aﬁ_,/;li(lpa) N ﬁ’}/‘%"lé i (EpC> By [ i (Epa) i
A E o Xd CVRIY - BRIMT F % S8k ¢ 4 0 Epa - Epc ~ipa >~ ipc -

(@) Bz kR (04mM) e i d ¥

scan rate gl ) ipc Ipa ogtine) | loa(ing) Epc | Epa AE
og(scan rate og(ipc) | log(ipa

(mvisec) (ud) | Cuay | WSOy ) | w)

20 1.301 1.664 1.556 0.221 0.192 0.183 | 0.244 | 0.061

50 1.699 2.580 2.373 0412 0.375 0.182 | 0.244 | 0.062

100 2 3.615 3.301 0.558 0.519 0.183 | 0.246 | 0.063

200 2.301 5.175 4.611 0.714 0.664 0.184 | 0.244 0.06

(b) A %445 5 (50mvisec) » ek R— ik A4k & 04,0812, 1.6 mM

concentration Ipc Ipa Epc Epa
(mM) (rh) (uh) (V) (V)
0.4 2.58 2.373 0.182 0.244
0.8 5.149 4.844 0.183 0.246
1.2 7.669 7.290 0.181 0.246
1.6 10.250 9.812 0.181 0.244
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(2) A frscan rateshf % 12 % i frscan rates ik 7 ?

ip : peak current (A)

ip = 269n32AD1/2c ,, 1/2 A
n : electron stoichiometry

|
" A : electrode area (cm?
¥ 4:(K) lectrode ares (G)
ek 1/2 D: diffusion coefficient
celp=Ry C : concentration (mol/L)

log (ip) = log (k » 1/2)

log (ip)= logk + 1/2log(v)

v : scan rate (V/sec)

Aplot of log (ip) versus log (v ) will yield a straight line with the slope of 1/2
Wih @A U2 e R S E A 0 | (Bl BH B Fipoc v Frr)

(a) ipcfrscan ratesh i
y=0.4917x - 0.4212
R?=0.9997
= log(ipc) = 0.4917 log (v ) - 0.4212

= ipcOC Y 0.4917

(b) i, frscan ratesfafd
y=0.4917x-0.4212
R2=0.9997
= log(ipa) = 0.4718 log (v ) - 0.4237

= ipaOC Y 0.4718
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(3) KE, frscan rateshhf % r4 % E  frscan rateshh % ?

24

() Epcfrscan ratesif i

y=8x10°x +0.1863 r?:0.6024
rr+ 1 7 8x10°%x<<0.1863 ( 20=x=200)

Ec &scanrates B > E &% 0w v & 0.1863

(b) E,,frscan ratehh

y =8x107 x + 0.2444 12: 0.0040
?# 1 ¢ 8x107x<<02444 (20=x=200)

\

Epa #ascan ratesz B > Eocfs & 4% % 5 0.2444 V

(4) HipcAr[Fe(CN)e> B 4 12 % ipafr[Fe(CN)e>] R 14 2

(2) ipcfe[Fe(CN)*] 8
y =6.3825 x + 0.0295 r?: 1.0000
=1
irc 27[Fe(CN)6>] & &

(b) ipafeIFe(CN)e] 8 14

y =6.1907 x - 0.111 r?: 1.0000
rr=1

ipa 22 [Fe(CN)g>] = 1 vt

3-
(5) Check the reversibility of electrochemical reaction of Fe(CN), .

LR

AE,=E,4-Ep=0.059/n

Fe(CN)¢> + e & Fe(CN)s* ; Fe3* +e « Fe*

n=1  AE=Ep-E,=0.059/1 =0.059

F o
(0.061+0.062+0.063+0.06 )/4 = 0.0615

\
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log (i) vs log(v)
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Ip (HA)

12

10

Ip vs Fe(CN) 3 concentration

elpc y=6.3825x+0.0295
RZ=1

Ipa y=6.1907x-0.111
RZ=1

0.2

0.4 0.6 0.8 1 1.2 14 1.6 1.8

Fe(CN)g>concentration (mM)
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